
Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 26433069145

Status : Answered

Chosen Option : 1

Q.2 दी गई दो संƥाओं तथा दो िच˥ो ं को आपस मŐ पर˙र बदलने के पʮात् Ţमशः समीकरण (I) तथा (II)
के मान Ɛा होगें?
+ तथा –, 6 तथा 9
I. 6 – 5 × 9 + 8 ÷ 2
II. 6 – 4 + 9 × 5 ÷ 3

Ans 1. 54, 5

2. 35, 3

3. 81, 16

4. 17, 5

Question ID : 264330105158

Status : Answered

Chosen Option : 2

Combined Graduate Level Examination Tier I 2022
Roll Number
Candidate Name
Venue Name iON Digital Zone iDZ Laxman Nagar
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Q.3

Ans 1. 6

2. 1

3. 3

4. 4

Question ID : 26433081529

Status : Answered

Chosen Option : 3

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 26433068200

Status : Answered

Chosen Option : 2

Q.5 A $ B का अथŊ है ‘A, B का पित है’
A @ B का अथŊ है ‘A, B की पुũी है’
A # B का अथŊ है ‘A, B का िपता है’
A * B का अथŊ है ‘A, B की माँ है’
यिद X @ Y $ J * M है, तो X, M से िकस Ůकार संबंिधत है?

Ans 1. भाई

2. भाभी

3. दादी

4. बहन

Question ID : 26433068070

Status : Answered

Chosen Option : 4
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Q.6 यिद A × B का अथŊ है िक A, B का भाई है, A ÷ B का अथŊ है िक A, B की बहन है, A + B का अथŊ है
िक A, B का िपता है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक P, R की बहन
है?

Ans 1. P × Q ÷ R

2. P ÷ Q × R

3. P ÷ Q + R

4. P + Q × R

Question ID : 264330105001

Status : Answered

Chosen Option : 2

Q.7 िदए गए दो िच˥ो ं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही होगा?
+ तथा ×

Ans 1. 4 × 3 + 6 – 7 ÷ 1 = 18

2. 13 + 4 × 5 – 6 ÷ 2 = 51

3. 7 + 5 × 2 – 8 ÷ 4 = 36

4. 95 ÷ 19 + 5 × 3 – 6 = 22

Question ID : 264330105116

Status : Answered

Chosen Option : 4

Q.8 एक िनिʮत कूट भाषा मŐ, 'GHOST’ को 'VVSMM' और ‘EATER' को 'THXFK' के ŝप मŐ िलखा जाता
है। इसी कूट भाषा मŐ 'HANDS' को िकस Ůकार से िलखा जाएगा?

Ans 1. VGRGN

2. WHRGN

3. UGRFN

4. NFRGV

Question ID : 26433069570

Status : Answered

Chosen Option : 3

Q.9 नीचे िदए गए Ůʲ मŐ, चार संƥा युƵ िदए गए हœ। Ůȑेक युƵ मŐ (–) के बायी ंओर दी गई संƥा (–) के
दायी ंओर दी गई संƥा से िकसी तकŊ /िनयम/संबंध से संबंिधत है। तीन युƵ उसी एक तकŊ /िनयम/संबंध
के आधार पर समान हœ। िदए गए िवकʙों मŐ से िवषम को चुिनए।(ȯान दŐ: संƥाओं को उनके संघटक
अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" -
13 पर संिŢयाएँ जैसे िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ
तोड़ना और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 44 – 84

2. 14 – 26

3. 18 – 34

4. 16 – 30

Question ID : 264330105061

Status : Answered

Chosen Option : 1
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Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 26433067826

Status : Answered

Chosen Option : 4

Q.11 िनɻिलİखत मŐ से कौन सा अƗर-समूह दी गई Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?
AZBY, BYCX, CXDW, ?, EVFU

Ans 1. DVEW

2. DWFV

3. DVEU

4. DWEV

Question ID : 26433059850

Status : Answered

Chosen Option : 4

Q.12 एक अनुŢम िदया गया है, िजसमŐ से एक पद लुɑ है। िदए गए िवकʙों मŐ से वह सही िवकʙ चुिनए, जो
अनुŢम को पूरा करे।
NTS, JZF, FFS, BLF, ?

Ans 1. XMO

2. XMQ

3. XSM

4. XRS

Question ID : 264330104808

Status : Answered

Chosen Option : 4

Q.13 िवकʙों मŐ से उस समुǄय का चयन कीिजए िजसमŐ दी गई संƥाओं के बीच वही संबंध है, जो संबंध
नीचे िदए गए समुǄयों की संƥाओं के बीच है।
(नोट: आपको संƥाओं पर कोई भी संिŢया उनके घटक अंको ं मŐ िवभािजत िकए िबना, पूणŊ संƥाओं
पर ही करनी है।)
(13, 39, 6)
(9, 18, 4)

Ans 1. (12, 48, 8)

2. (15, 45, 3)

3. (20, 28, 8)

4. (12, 50, 13)

Question ID : 26433069241

Status : Answered

Chosen Option : 1
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Q.14 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. कुछ मेज, कुसŎ हœ।
II. कोई कुसŎ, ːूल नही ं है।
िनʺषŊ:
I. सभी कुसŎ, मेज हœ।
II. कुछ कुसŎ, ːूल हœ।
III. सभी मेज, ːूल हœ।

Ans 1. केवल िनʺषŊ I अनुसरण करता है

2. सभी िनʺषŊ अनुसरण करते हœ

3. कोई भी िनʺषŊ अनुसरण नही ं करता है

4. II तथा III दोनों िनʺषŊ अनुसरण करते हœ

Question ID : 264330104928

Status : Answered

Chosen Option : 3

Q.15

Ans

1. 

2. 

3. 

4. 

Question ID : 26433076655

Status : Not Answered

Chosen Option : --
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Q.16 Select the word-pair that best represents a similar relationship to the one expressed in
the pair of words given below. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Dog : Kennel

Ans 1. Bee : Hive

2. Hare : Den

3. Lion : Burrow

4. Spider : Shed

Question ID : 26433068338

Status : Answered

Chosen Option : 1

Q.17 िनɻिलİखत चार अƗर-संयोजनो ं मŐ से तीन िकसी िनिʮत तरीके से समान हœ और इस Ůकार एक समूह
बनाते हœ। कौन सा अƗर-संयोजन उस समूह से संबंिधत नही ं है?

Ans 1. PUK

2. CHX

3. FKA

4. CJZ

Question ID : 26433081505

Status : Answered

Chosen Option : 4

Q.18 िदए गए समीकरण को संतुिलत करने के िलए िनɻ मŐ से िकन दो संƥाओं को पर˙र बदलना होगा?
7 × 4 ÷ 14 + 12 + 30 = 50

Ans 1. 12, 14

2. 4, 7

3. 30, 50

4. 7, 14

Question ID : 26433069599

Status : Answered

Chosen Option : 4

Q.19 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(45, 15, 120)
(27, 8, 76)

Ans 1. (72, 58, 84)

2. (30, 12, 80)

3. (56, 48, 32)

4. (23, 14, 38)

Question ID : 26433082546

Status : Not Answered

Chosen Option : --
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Q.20 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(17, 24, 58)
(26, 37, 89)

Ans 1. (15, 17, 47)

2. (41, 39, 125)

3. (10, 20, 44)

4. (21, 38, 96)

Question ID : 26433074562

Status : Answered

Chosen Option : 1

Q.21 इस Ůʲ मŐ तीन कथन िदए गए हœ, िजसके बाद तीन िनʺषŊ I , II और III िदए गए हœ। कथनो ं को सȑ
मानते Šए, भले ही वे सवŊǒात तȚों से िभɄ Ůतीत होते हो,ं िनणŊय कीिजए िक कौन-सा/से िनʺषŊ कथनो ं
का तािकŊ क ŝप से अनुसरण करता है/अनुसरण करते हœ।
कथन:
सभी बाइकŐ कार हœ।
कुछ कारŐ टŌक हœ।
सभी टŌक साइिकलŐ हœ।
िनʺषŊ:
I. कुछ कारŐ साइिकलŐ हœ।
II. कुछ साइिकलŐ टŌक हœ।
III. कुछ बाइकŐ टŌक हœ।

Ans 1. केवल िनʺषŊ II और III अनुसरण करते हœ।

2. केवल िनʺषŊ I और II अनुसरण करते हœ।

3. केवल िनʺषŊ I और III अनुसरण करते हœ।

4. सभी िनʺषŊ अनुसरण करते हœ।

Question ID : 26433070399

Status : Answered

Chosen Option : 4

Q.22 िनɻिलİखत Ůʲ मŐ दी गई ŵंृखला मŐ से लुɑ अंक ǒात कीिजए।
480, 240, 120, 60, 30, ?

Ans 1. 15

2. 17

3. 18

4. 21

Question ID : 264330105021

Status : Answered

Chosen Option : 1

Q.23 उस िवकʙका चयन कीिजए, िजसका पाँचवŐ अƗर-समूह से ठीक वही संबंध है, जो संबंध दूसरे अƗर-
समूह का पहले अƗर-समूह से है और वही संबंध चौथे अƗर-समूह का तीसरे अƗर समूह से है।
COMPLEX : OCXELPM :: BALANCE : ABECNAL :: AIRLINE : ?

Ans 1. RAINELI

2. ARLINEI

3. IAENILR

4. ELNIIAR

Question ID : 26433069017

Status : Answered

Chosen Option : 3
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Q.24 िदए गए शɨों को अंŤेजी शɨकोश के अनुसार ʩवİ̾थत करने के पʮात्, कौन सा शɨ ‘तीसरे’ ̾थान
पर आएगा?
1. Native
2. Nationality
3. Nation
4. National
5. Nationalism

Ans 1. National

2. Nationalism

3. Nationality

4. Nation

Question ID : 264330104884

Status : Answered

Chosen Option : 2

Q.25 एक िनिʮत कूट भाषा मŐ, 'CABLES' को 'ECDUGN' िलखा जाता है और 'PHONES' को 'RJQUGP'
िलखा जाता है। उसी भाषा मŐ 'MOBILE' को कैसे िलखा जाएगा?

Ans 1. OQDNKG

2. DQOKNG

3. OQDKNG

4. OQDGNK

Question ID : 26433066019

Status : Answered

Chosen Option : 4

Q.1 शोवना नारायण को 2013 मŐ िनɻिलİखत मŐ से िकस पुरˋार से सʃािनत िकया गया था?
Ans 1. संगम कला

2. गुŜ देब Ůसाद

3. भरत मुिन सʃान

4. कािलदास सʃान

Question ID : 26433090712

Status : Answered

Chosen Option : 4

Q.2 लोकसभा मŐ िकसी भी कायŊ को करने के िलए गणपूितŊ (कोरम) हेतु सद˟ों की Ɋूनतम आवʴक
संƥा िकतनी है?

Ans 1. सदन के सद˟ों की कुल संƥा का पांचवां भाग

2. सदन के सद˟ों की कुल संƥा का एक ितहाई

3. सदन के सद˟ों की कुल संƥा का एक चौथाई

4. सदन के सद˟ों की कुल संƥा का दसवां भाग

Question ID : 26433072918

Status : Answered

Chosen Option : 4

Section : General Awareness
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Q.3 मई 2022 मŐ िकसे िदʟी का उपराǛपाल िनयुƅ िकया गया?
Ans 1. िवजय शेखर शमाŊ

2. िवनय कुमार सƛेना

3. िववेक कुमार

4. अरिवंद कृˁ

Question ID : 264330105330

Status : Answered

Chosen Option : 2

Q.4 िनɻिलİखत मŐ से कौन-सा देश 2023 मŐ आई.सी.सी. (ICC) मिहला अंडर -19 िŢकेट िवʷ कप के पहले
संˋरण की मेजबानी करेगा?

Ans 1. बांƸादेश

2. दिƗण अůीका

3. भारत

4. इंƸœड

Question ID : 26433059406

Status : Answered

Chosen Option : 3

Q.5 दूरी की इकाई िनɻिलİखत मŐ से कौन-सी है?

Ans 1. वॉट

2. Ůकाश वषŊ

3. जूल

4. Ɋूटन

Question ID : 26433066455

Status : Answered

Chosen Option : 2

Q.6 संिƗɑाƗर “CPCL” भारत के पेटŌ ोिलयम उȨोग से संबंिधत है। “CPCL” का िवˑाįरत ŝप िलखŐ।
Ans 1. Chennai Petroleum Corporation Limited (चे̢नई पेटŌ ोिलयम कॉपŖरेशन िलिमटेड)

2. Coimbatore Petroleum Corporation Limited (कोयंबटूर पेटŌ ोिलयम कॉपŖरेशन िलिमटेड)

3. Central Petroleum Corporation Limited (सŐटŌ ल पेटŌ ोिलयम कॉपŖरेशन िलिमटेड)

4. Corporation of Petroleum and Chemicals Limited (कॉपŖरेशन ऑफ पेटŌ ोिलयम एंड
केिमक̵स िलिमटेड)

Question ID : 26433089212

Status : Answered

Chosen Option : 4

Q.7 मिणमेखलई महाकाʩ िनɻिलİखत मŐ से िकसकी कहानी का वणŊन करता है?

Ans 1. कोवलन् और माधवी के बेटे

2. कोवलन् और माधवी की बेटी

3. कोवलन् की पूवŊ पȉी कɄगी

4. कोवलन् की पȉी माधवी

Question ID : 264330105205

Status : Answered

Chosen Option : 2
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Q.8 िनɻिलİखत मŐ से कौन सा राजवंश "िũपƗीय संघषŊ" का िहˣा नही ं था, जो एक िवशेष ŝप से वांछनीय
Ɨेũ कɄौज पर िनयंũण करने के िलए सिदयो ं तक लड़ी गई?

Ans 1. कदंब

2. रा Ō̓ कूट

3. गुजŊर-Ůितहार

4. पाल

Question ID : 264330105409

Status : Answered

Chosen Option : 1

Q.9 िनɻिलİखत मŐ से िकस वषŊ मŐ मतदान की आयु 21 वषŊ से घटाकर 18 वषŊ कर दी गई थी?
Ans 1. 1989

2. 1992

3. 1990

4. 1988

Question ID : 26433074891

Status : Answered

Chosen Option : 2

Q.10 िनɻिलİखत मŐ से िकसओलंिपक खेल मŐ भारत ने ˢणŊ पदक नही ंजीता?
Ans 1. 1960

2. 1948

3. 1932

4. 1928

Question ID : 26433071543

Status : Answered

Chosen Option : 3

Q.11 1811 मŐ Ůˑािवत िकस िनयम के Ȫारा यह पूवाŊनुमान Ůˑुत िकया गया था िक 'ताप व दाब की समान
İ̾थितयो ं मŐ एक-समान आयतन वाली गैसो ं मŐ अणुओं की संƥा समान होगी'?

Ans 1. डाʐन का िनयम

2. गे-लुसाक का िनयम

3. अवोगाūो का िनयम

4. चाʤŊ का िनयम

Question ID : 26433064085

Status : Answered

Chosen Option : 3

Q.12 िȪतीय पंचवषŎय योजना मŐ िकस Ɨेũ पर िवशेष बल िदया गया?
Ans 1. कृिष

2. पįरवहन

3. ʩापार

4. उȨोग

Question ID : 26433065446

Status : Answered

Chosen Option : 2
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Q.13 "ए िह Ōːी ऑफ िŰिटश इंिडया" ______ Ȫारा Ůकािशत रचना है।
Ans 1. जेʈ िमल

2. लॉडŊ कैिनंग

3. वॉरेन हेİːंƺ

4. लॉडŊ डलहौजी

Question ID : 264330105541

Status : Answered

Chosen Option : 3

Q.14 राजाराजा Ůथमऔर राजŐū Ůथम ________ वंश से संबंिधत थे।
Ans 1. चोल

2. पʟव

3. चालुƐ

4. पांǰ

Question ID : 26433091455

Status : Answered

Chosen Option : 3

Q.15 िनɻिलİखत मŐ से कौन कथकली शा˓ीय नृȑ का ŮिसȠ कलाकार है?

Ans 1. सुनंदा नायर

2. पंकज चरण दास

3. गोपीनाथ

4. राजा रेǭी

Question ID : 26433064384

Status : Answered

Chosen Option : 1

Q.16 पृțी के आंतįरक ऊˆा इंजन को शİƅ िकससे Ůाɑ होती है?

Ans 1. रेिडयोधमŎ ऊजाŊ

2. ǜालामुखी

3. सौर ऊजाŊ

4. ǜार

Question ID : 26433064462

Status : Answered

Chosen Option : 4

Q.17 िकस भारतीय तबला वादकऔर संगीतकार ने 'Ƹोबल डŌ म Ůोजेƃ' के िलए 'बे̾ट कंटŐपोरेरी व̵ डŊ
̱युि़जक एʛम' Ťैमी पुरˋार जीता?

Ans 1. उˑाद ज़ािकर Šसैन

2. पंिडत संदीप दास

3. पंिडत अिनंदो चटजŎ

4. उˑाद अʟा रखा

Question ID : 26433071527

Status : Answered

Chosen Option : 3
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Q.18 मेįरयाना गतŊ (Mariana trench) िकस महासागर मŐ İ̾थत है?

Ans 1. आकŊ िटक महासागर

2. Ůशांत महासागर

3. अटलांिटक महासागर

4. दिƗणी महासागर

Question ID : 264330105625

Status : Answered

Chosen Option : 2

Q.19 िनɻिलİखत मŐ से िकसकी इकाई m/s2 है?

Ans 1. चाल

2. ȕरण

3. दूरी

4. वेग

Question ID : 264330105462

Status : Answered

Chosen Option : 4

Q.20 तीन साल की अविध के िलए रा Ō̓ पित ūौपदी मुमूŊ Ȫारा भारत के नए अटॉनŎ जनरल के ŝप मŐ िकसे
िनयुƅ िकया गया है?

Ans 1. शेहन कŜणाितलका

2. ऋिष सुनक

3. आर. वŐकटरमिण

4. धनंजय यशवंत चंūचूड़

Question ID : 264330105218

Status : Answered

Chosen Option : 4

Q.21 डाकघर बचत बœको ं की बचत जमाओं को मुūा पूितŊ की िकस माप मŐ शािमल िकया जाता है?

Ans 1. M1

2. M3

3. M2

4. M4

Question ID : 264330105381

Status : Not Answered

Chosen Option : --

Q.22 पिȅयो ं मŐ वा˃ोȖजŊन ______ के माȯम से होता है।
Ans 1. ːोमेटा

2. एपीडमŎ कोिशकाएँ

3. रƗी कोिशकाएँ

4. कॉकŊ कोिशका

Question ID : 264330105456

Status : Answered

Chosen Option : 2
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Q.23 ʩावसाियक उपयोग मŐ सवाŊिधक लोकिŮय कोयला कौन-सा है ?

Ans 1. िबटुमिनस

2. एंŪेसाइट

3. िलưाइट

4. िपट

Question ID : 264330105505

Status : Answered

Chosen Option : 2

Q.24 िन̱निलİखत मŐ से िकसे भारतीय शा˓ीय नृȑ ŝपों के िवकास और Ůचार मŐ उनके योगदान के िलए
ितŜमाला ितŜपित देव̾थानम की 'आ̾थाना नतŊकी' (“Resident Dancer”) के ŝप मŐ माɊता दी
गई थी?

Ans 1. यािमनी कृˁमूितŊ

2. ŜİƏणी देवी

3. उमा शमाŊ

4. रािगनी देवी

Question ID : 26433092378

Status : Answered

Chosen Option : 2

Q.25 मेिडसेप एक अनूठी और ʩापक सामािजक बीमा योजना है। यह योजना िकस राǛ सरकार Ȫारा लागू
की गई थी?

Ans 1. केरल

2. कनाŊटक

3. राज̾थान

4. छȅीसगढ

Question ID : 264330105313

Status : Answered

Chosen Option : 1

Q.1

Ans
1. 

2. 

3. 

4. 

Question ID : 26433074494

Status : Answered

Chosen Option : 2

Section : Quantitative Aptitude
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Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080082

Status : Not Answered

Chosen Option : --

Q.3

Ans
1. 

2. 

3. 

4. 

Question ID : 26433066338

Status : Not Answered

Chosen Option : --

Q.4 यिद एक संƥा K = 42 × 25 × 54 × 135, 3a Ȫारा िवभाǛ है, तो a का अिधकतम मान ǒात कीिजए।
Ans 1. 4

2. 6

3. 5

4. 7

Question ID : 26433075715

Status : Answered

Chosen Option : 4

Q.5 एक दुकान मŐ 5 Ůितशत की छूट Ůदान की जाती है और यिद छूट के बाद कुल देय रािश ₹2,000 से
अिधक है, तो 10 Ůितशत की अितįरƅ छूट Ůदान की जाती है। यिद एक Ťाहक ₹500 Ůȑेक की कीमत
के पाँच उȋाद खरीदता है, तो उसके Ȫारा भुगतान की जाने वाली अंितम रािश (₹ मŐ) ǒात कीिजये।

Ans 1. ₹2,500

2. ₹2,375.5

3. ₹2,137.5

4. ₹2,225.5

Question ID : 26433076006

Status : Answered

Chosen Option : 4
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Q.6 एक ʩİƅ िकसी िनिʮत रािश को 7 Ůितशत की वािषŊक दर से साधारण ɯाज पर उधार देता है तथा 11
वषŘ मŐ Ůाɑ िकया गया ɯाज उधार दी गई रािश से 920 Ŝपये कम है। उधार दी गई रािशƐा है?

Ans 1. 52000 Ŝपये

2. 41200 Ŝपये

3. 2400 Ŝपये

4. 4000 Ŝपये

Question ID : 264330105670

Status : Marked For Review

Chosen Option : 4

Q.7 यिद िकसी िũभुज के कोणों का अनुपात 1 : 2 : 3 है, तो यह िकस Ůकार का िũभुज है?

Ans 1. समबाŠ िũभुज

2. समकोण िũभुज

3. अिधक कोण िũभुज

4. समिȪबाŠ िũभुज

Question ID : 26433071272

Status : Answered

Chosen Option : 2

Q.8 △XYZ मŐ, ∠X=90°, YZ= 15 cm, और XZ = 12 cm है। िफर Cos Y ǒात कीिजए।
Ans

1. 

2. 

3. 

4. 

Question ID : 26433085502

Status : Not Answered

Chosen Option : --

Q.9

Ans 1. P और R

2. P और Q

3. केवल Q

4. केवल R

Question ID : 26433076086

Status : Answered

Chosen Option : 1
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Q.10 यिद एक वृȅ की पįरिध 220 से.मी. है, तो उसकी िũǛा Ɛा है?

Ans 1. 40 से.मी.

2. 26 से.मी.

3. 35 से.मी.

4. 25 से.मी.

Question ID : 264330105842

Status : Answered

Chosen Option : 3

Q.11 यिद tan A – tan B – tan C = tan A tan B tan C है, तो B और C के संदभŊ मŐ A का मान Ɛा होगा?
Ans 1. 

2. 

3. 

4. 

Question ID : 26433061940

Status : Answered

Chosen Option : 1

Q.12 एक माˋ िनमाŊण कंपनी ने 2018 मŐ 'X' संƥा के माˋका िनमाŊण िकया। इसने 2019 मŐ अपनी
िनमाŊण Ɨमता मŐ 30% की वृİȠ की और उसके बाद 2020 मŐ इसके िनमाŊण मŐ 15% की और वृİȠ की।
2021 मŐ, मशीनरी के खराब होने के कारण इसके िनमाŊण मŐ 40% की िगरावट आई । यिद 2021 मŐ
179400 माˋका िनमाŊण िकया जाता है तो 'X' का मान Ɛा होगा?

Ans 1. 180000

2. 230000

3. 210000

4. 200000

Question ID : 26433061454

Status : Not Answered

Chosen Option : --

Q.13 यिद एक अधŊगोले का ʩास 35 से.मी. है, तो अधŊगोले का आयतनƐा है?

Ans 1. 17428.33 से.मी.3

2. 15248.46 से.मी.3

3. 9478.26 से.मी.3

4. 11229.17 से.मी.3

Question ID : 264330105849

Status : Answered

Chosen Option : 4
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Q.14
एक समबाŠ िũभुज की ऊँचाई है। इस समबाŠ िũभुज का ƗेũफलƐा है?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330105829

Status : Answered

Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 26433085492

Status : Not Answered

Chosen Option : --

Q.16 1500 m की रेस मŐ, यिद वाहन P वाहन Q को 200 m की बढ़त देता है, तो वाहन P, 8 sec से रेस जीत
जाता है। इसके िवपरीत, यिद वाहन P वाहन Q को 400 m की बढ़त देता है, तो रेस बराबरी पर समाɑ
होती है। वाहन P को 1500 m चलने मŐ िकतना समय लगता है?

Ans 1. 40 sec

2. 44 sec

3. 60 sec

4. 45 sec

Question ID : 26433072975

Status : Not Answered

Chosen Option : --
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Q.17

Ans 1. 16

2. 8

3. 17

4. 5

Question ID : 26433082790

Status : Not Answered

Chosen Option : --

Q.18 नीचे दी गई तािलका एक वषŊ मŐ पाँच राǛो मŐ िशƗा के िलए बजटआवटंन को दशाŊती है।

राǛ K मŐ िशƗा के िलए बजट आवंटन, राǛ L मŐ िशƗा के िलए बजट आवंटन का िकतना Ůितशत है?

Ans 1. 45 Ůितशत

2. 150 Ůितशत

3. 50 Ůितशत

4. 55 Ůितशत

Question ID : 264330105747

Status : Answered

Chosen Option : 3

Q.19 Rs.80 Ůित kg और Rs.50 Ůित kg की गेšं को 1 ∶ 2 ∶ 3 के अनुपात मŐ तीसरी िक˝की गेšं के साथ
िमलाया जाता है। यिद िमŵण का मूʞ Rs.75 Ůित kg है, तो तीसरी िक˝ की गेšं का Ůित kg मूʞƐा
होगा? 

Ans 1. Rs.85 

2. Rs.95 

3. Rs.80  

4. Rs.90 

Question ID : 26433061133

Status : Answered

Chosen Option : 4

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 26433065307

Status : Not Answered

Chosen Option : --
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Q.21 िकसी वˑु की िबŢी पर Ůारंिभक लाभ Ůितशत 55% था। यिद उस वˑु के Ţय मूʞ मŐ 24% की वृİȠ
होती है, लेिकन िवŢय मूʞ वही रहता है, तो नया लाभ Ůितशत ǒात कीिजए।

Ans 1. 36%

2. 28%

3. 33%

4. 25%

Question ID : 26433066301

Status : Answered

Chosen Option : 4

Q.22

Ans
1. 

2. 

3. 

4. 

Question ID : 26433091950

Status : Answered

Chosen Option : 1

Q.23 नीचे दी गई तािलका पाँच फैƃŌ ीयो ं Ȫारा उȋादन की गई İखलौनो की संƥा को दशाŊती है।

F2 Ȫारा िनिमŊत İखलौनो की संƥा, F4 Ȫारा िनिमŊत İखलौनो की संƥा का िकतना Ůितशत है?

Ans 1. 200 Ůितशत

2. 50 Ůितशत

3. 100 Ůितशत

4. 300 Ůितशत

Question ID : 264330105714

Status : Answered

Chosen Option : 4

Q.24 25 पुŜष और 45 मिहलाएं एक कायŊ को 15 िदनो ं मŐ पूरा कर सकते हœ, जबिक 15 पुŜष और 60
मिहलाएं इसे 20 िदनो ं मŐ पूरा कर सकते हœ। 69 पुŜष और 67 मिहलाएं उस कायŊ को िकतने िदनो ं मŐ पूरा
कर सकते हœ?

Ans 1. 5

2. 6

3. 10

4. 8

Question ID : 26433075298

Status : Not Answered

Chosen Option : --
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Q.25 6 और 54 का मȯानुपाती 15 से _______ अिधक है।
Ans 1. 5

2. 6

3. 4

4. 3

Question ID : 26433066175

Status : Not Answered

Chosen Option : --

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The boy had run away / because he couldn’t stand / his father beat him / for one more
day.

Ans 1. for one more day 

2. The boy had run away 

3. because he couldn’t stand

4. his father beat him

Question ID : 26433088159

Status : Answered

Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank and complete the collocation.

Akshay always gives ______ to Johana for his success.

Ans 1. chance

2. opportunity

3. credit

4. blame

Question ID : 26433073564

Status : Answered

Chosen Option : 3

Q.3 Select the most appropriate synonym of the underlined word in the given sentence.

The next move of the opponent was anticipated by the team.

Ans 1. Suspected

2. Forgotten

3. Predicted

4. Dreaded 

Question ID : 26433071963

Status : Answered

Chosen Option : 3

Section : English Comprehension
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Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
You must / be hurry, / otherwise you will / miss the train.

Ans 1. be hurry,

2. You must

3. miss the train.

4. otherwise you will

Question ID : 26433086306

Status : Answered

Chosen Option : 4

Q.5 Select the most appropriate meaning of the underlined idiom in the given sentence.
Nobody in the conference seemed to believe the cock and bull story about such a
major movie star.

Ans 1. Factual story

2. Interesting story

3. Secretive story

4. Wildly exaggerated or falsified story

Question ID : 26433061577

Status : Answered

Chosen Option : 4

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Poor posture may strain neck muscles, whether you're leaning over your computer
or hunching over your workstation.
B. However, neck pain may occasionally be an indication of a more serious issue.
C. Neck pain is a frequent problem among many people these days.
D. If your neck pain is accompanied by numbness or lack of strength in your arms or
hands, or if you experience shooting pain into your shoulder or down your arm, you
should seek medical attention.

Ans 1. ABDC

2. BDCA

3. CABD

4. CADB

Question ID : 26433093052

Status : Answered

Chosen Option : 4

Q.7 Fill in the blank with the correct collocation.

Holm, a Danish traveller, had made a/an ________ replica of the tablet, which in 1908
was deposited in the Metropolitan Museum of Art, New York.

Ans 1. corrupt

2. obscure 

3. wild

4. exact 

Question ID : 26433090504

Status : Answered

Chosen Option : 1
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Q.8 Select the most appropriate synonym of the underlined word in the following
sentence.
The way Sheetal imparts knowledge to her students is really praiseworthy.

Ans 1. transmits 

2. discloses

3. exposes

4. admits 

Question ID : 26433066414

Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the highlighted word in the following
sentence.

The managing director produced cogent reasons for the change in HR policies.

Ans 1. Unconvincing

2. Compelling

3. Pertinent

4. Unexpected 

Question ID : 26433065224

Status : Answered

Chosen Option : 1

Q.10 Rectify the sentence by selecting the correct spelling of the underlined word.

She is a nuisanse to her family.

Ans 1. newsance

2. nuisince

3. nuisance 

4. niusance

Question ID : 26433065145

Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The game is now in full swing.

Ans 1. very active 

2. playing on the swings 

3. very passive 

4. very uninteresting 

Question ID : 26433072229

Status : Answered

Chosen Option : 1
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Q.12 Select the option that expresses the given sentence in passive voice.

The secretary was noting down the dictation.

Ans 1. The dictation was being noted down by the secretary.

2. The secretary noted the dictation.

3. The dictation was noted down by the secretary.

4. The notes were noted by the secretary.

Question ID : 26433088945

Status : Answered

Chosen Option : 1

Q.13 Rearrange the parts of the sentence in correct order.
The Google doodle
P. with a cup of green tea, beaker and
Q. Tsujimura working in her laboratory
R. some green tea leaves by the side
S. features a graphical representation of

Ans 1. RSPQ

2. RPQS

3. SQPR

4. PQSR

Question ID : 264330104688

Status : Answered

Chosen Option : 3

Q.14 Select the correct direct form of the given sentence.
She said that she could not believe him.

Ans 1. She says, “I could not believed him.”

2. She said, “I may not believe him.”

3. She said, “You cannot believe him.”

4. She said, “I cannot believe him.”

Question ID : 264330104638

Status : Answered

Chosen Option : 4

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

She lived in well-resourced surroundings.

Ans 1. luxury  

2. luxurious  

3. No substitute 

4. luxuriousness

Question ID : 26433073901

Status : Answered

Chosen Option : 2
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Q.16 Select the most appropriate synonym of the bracketed words to fill in the blank.

The lights ________ (lighting up) the artwork on the walls of the museum were looking
beautiful.

Ans 1. enlightening  

2. mesmerising  

3. trafficking  

4. illuminating

Question ID : 26433071820

Status : Answered

Chosen Option : 4

Q.17 Select the option that can be used as a one-word substitute for the given group of
words

Allowance given to a wife from her husband on separation

Ans 1. Allegory

2. Alimony

3. Advocacy

4. Affidavit

Question ID : 26433070704

Status : Answered

Chosen Option : 2

Q.18 Rearrange the parts of the sentence in correct order.
Thorium has
P. and is part of a nuclear programme in India
Q. of nuclear reactor in countries including
R. been tested as a fuel in other types
S. the United States, Germany and the United Kingdom,

Ans 1. PSQR

2. RQSP

3. SPQR

4. RPQS

Question ID : 264330104686

Status : Answered

Chosen Option : 2

Q.19 Select the sentences that contains no spelling errors.

Ans 1. My mother asked me to purchase two bread knives having serated edges.

2. My mother asked me to purchase two bread knives having serrated edges.

3. My mother asked me to purchase two bread knives having seerated edges.

4. My mother asked me to purchase two bread knives having serratted edges.

Question ID : 26433070694

Status : Answered

Chosen Option : 1
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Q.20 Select the correct active form of the given sentence.
Football tournament was being avoided by his son.

Ans 1. His son was avoiding football tournament.

2. His son avoids football tournament.

3. His son is avoiding football tournament.

4. His son avoided football tournament.

Question ID : 264330104589

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
One’s options in this world are as (1) ___________________ as the horizon, which is
technically a circle and thus (2) _______________ broad. Yet we must choose each step we
take with (3) _______________ caution, for the footprints we leave (4) ___________ are as
important as the (5) _____________ we will follow. They’re part of the same journey: our
story.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. slight

2. narrow

3. contracted

4. vast

Question ID : 26433084944

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
One’s options in this world are as (1) ___________________ as the horizon, which is
technically a circle and thus (2) _______________ broad. Yet we must choose each step we
take with (3) _______________ caution, for the footprints we leave (4) ___________ are as
important as the (5) _____________ we will follow. They’re part of the same journey: our
story.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. severely

2. infinitely

3. strictly

4. rigorously

Question ID : 26433084945

Status : Answered

Chosen Option : 3

ww
w.
go
vt
jo
bs
al
er
t.i
n

ww
w.
go
vt
jo
bs
al
er
t.i
n



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
One’s options in this world are as (1) ___________________ as the horizon, which is
technically a circle and thus (2) _______________ broad. Yet we must choose each step we
take with (3) _______________ caution, for the footprints we leave (4) ___________ are as
important as the (5) _____________ we will follow. They’re part of the same journey: our
story.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. inattentive

2. unmindful

3. utmost

4. slack

Question ID : 26433084946

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
One’s options in this world are as (1) ___________________ as the horizon, which is
technically a circle and thus (2) _______________ broad. Yet we must choose each step we
take with (3) _______________ caution, for the footprints we leave (4) ___________ are as
important as the (5) _____________ we will follow. They’re part of the same journey: our
story.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. discarded

2. surplus

3. behind

4. excessive

Question ID : 26433084947

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
One’s options in this world are as (1) ___________________ as the horizon, which is
technically a circle and thus (2) _______________ broad. Yet we must choose each step we
take with (3) _______________ caution, for the footprints we leave (4) ___________ are as
important as the (5) _____________ we will follow. They’re part of the same journey: our
story.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. custom

2. approach

3. path

4. manner

Question ID : 26433084948

Status : Answered

Chosen Option : 3
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